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=
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T % (m/s)
g: TE745 % (m/s?)

o 2
T =
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Je] L% (g/cm?)
EZ 99 (kg/em?) = p Ha/10
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Huch o9 o,
el 87} g,

H

m{n:

A ok

I F

[e))]

] ]’\14 EZ =S Ho (m), ¥9 =%
a]er/] 5SS v (mls), THEEE g (m/s2)3H4,
FololAe Az EE 3 FYT9 A = Aololm=
H= (Ha+ va?2g) —(Hs+ vs22g) = Hi — Hs+ va?2g — vs22g
o Hyth.

EE 74
o
==

s (m), HEW 1]
q dH H (m=,

RS

T A

S
R

mﬂ

oRAH, EX d=E Hi(m),
Hi= H+ Hs —va?2g+ vs2/2g=H —(va2/2g — vs22g) + Hs
o U=, EE = He m+e, d 4 H A EE £% =
=] Apol(va?2g — w2295 A, & A= H:(m)E B3k gho] Fuvh.ubebA,
Hi=H
o= A UthEZE d=
Aol UEE p (glemd)ZA,
ik

- (1.3)
q_ ?Y(ﬂ /\1:

ko] (va2/2g- vs22g) =0
L Hy (m)+=, 34 Hs (m)ol]l &) mpgrt.
EE o498 Pr (kg/em?) =

HHEys = H

Pi=p Ha/10
of Fut}.ol9} ol
Ps=p Hs/10
o Hyt}.
EZE 42 Pi(kglem2)i=, (1.3) 2] o2 H-H,
Pi=0 HI10 — o (va2/2g — vs2/2g)/10 +Ps

oyt

o
=

70

7 O,

KR
T

2ol (va?2g- vs2/2g) =0

Pa=p HI10 +Ps
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5. ¢4 Al7le ol
ag 1 oAE, 4 AVie 22 F FAY X dsynh.ayd, g A7
% Ao old A%, EE JdE Ha m¥ ¢ = Ha (m+ 0%@*711 Huy 7t
AZ17F & SARG Folx= whE, AAX = AdPUTLEETY g A7I7F Eo
AHs (m), S99 49 A717F Fol 4H: ¥ 72t 5 FAERT 52 49, HY
= Hdm)# &% 3= He(m)e, o3 2oy
Hi= Hin + AHz ¢ = ¢ ¢ o o o o o o o o o o o o o o o o o o s o o (1.6)
Hi= Ha+AH;, o o ¢ o o o o o o o o o o o o o o o o o o o o o o (1.7)
6. At

EZY @=1.9 m¥min, EF = =150m, ¢ = Ha=20m, E& 774 Da
= 80 mm, 59 T7%4 Ds = 100 mm, umu% Aol k= A7lel Fo] A Hs = 0.3m,
=479 k= A7 Fo] AHs = 0.1m, AAC] ¥ p= 0.78 glem? ¢ 45, A

¥ H(m), WEY 2 Pikg/lem?) H 59 498 Pi(kglem?) & ALkt

(1.6)2 o 21H,

Hi= Hn + A Hs=150+ 0.3 =150.3 m
1.2 e zrH,
Hs= Ha+AH;=20+0.1=20.1m
EET 75
va= (@ /60)/1 7 14x(D4/1000)2} = (1.9/60)/1 7 /4x(80/1000)2} = 6.3 m/s
FdT9 F%5 v (m/s)e,
vs = (@ /60)A  /14x(Ds/1000)2} = (1.9/60)/{ = /4x(100/1000)2} = 4.0 m/s
1o =zHH, d F4d Hm)E,

H=Hq —Hs+ va?22g —vs2[2g

=150.3 — 20.1 +6.32 /(2x9.81)
=131.4m

(1.2 z25H, E& <48 Pr(kg/em?2)+,

Pa=p Hs/10=0.78 x 150.3 /10 = 11.7 kg/cm?2
1.5 =25, 59 ¢4 P (kglem?)=,

P:=p H:/10=0.78 x 20.1 /10 = 1.57 kg/cm?

I FAyoh

va (m/s)+=,

—4.02 /(2x9.81)
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